


Page: 2

Page: 2

1 X SF604041 COUNTER
SUNK SCREW 1/4 X 1/2"

UNF

Read More
Price: £0.25 inc VAT

1 X RFR103 CABLE
GROMMET

Read More
Price: £1.75 inc VAT

1 X SF604061 SCREW
COUNTER SUNK 1/4 UNF

X 3/4"

Read More
Price: £0.40 inc VAT

1 X RMP2312 ROADSTER
REAR VIEW MIRROR

BLACK SCREW

Read More
Price: £1.00 inc VAT

1 X RFN210 BLANKING
PLUG GROMMET 5/8

Read More
Price: £0.46 inc VAT

1 X SE910201 SCREW 3/16
UNF X 5/8"

Read More
Price: £0.35 inc VAT

1 X SE604051 MGB
HEATER BOX TO

BULKHEAD SCREW

Read More
Price: £0.25 inc VAT

1 X SH505061 MGB
GEARBOX MOUNT SCREW

Read More
Price: £0.30 inc VAT

https://mgbhive.co.uk/product/sf604041-counter-sunk-screw-1-4-x-1-2/?utm_source=file&utm_medium=PDF&utm_campaign=cart&utm_term=SF604041+COUNTER+SUNK+SCREW+1%2F4+X+1%2F2%22+UNF
https://mgbhive.co.uk/product/sf604041-counter-sunk-screw-1-4-x-1-2/?utm_source=file&utm_medium=PDF&utm_campaign=cart&utm_term=SF604041+COUNTER+SUNK+SCREW+1%2F4+X+1%2F2%22+UNF
https://mgbhive.co.uk/product/rfr103-cable-grommet/?utm_source=file&utm_medium=PDF&utm_campaign=cart&utm_term=RFR103+CABLE+GROMMET
https://mgbhive.co.uk/product/rfr103-cable-grommet/?utm_source=file&utm_medium=PDF&utm_campaign=cart&utm_term=RFR103+CABLE+GROMMET
https://mgbhive.co.uk/product/sf604061-screw-counter-sunk-1-4-unf-x-3-4/?utm_source=file&utm_medium=PDF&utm_campaign=cart&utm_term=SF604061+SCREW+COUNTER+SUNK+1%2F4+UNF+X+3%2F4%22
https://mgbhive.co.uk/product/sf604061-screw-counter-sunk-1-4-unf-x-3-4/?utm_source=file&utm_medium=PDF&utm_campaign=cart&utm_term=SF604061+SCREW+COUNTER+SUNK+1%2F4+UNF+X+3%2F4%22
https://mgbhive.co.uk/product/rmp2312-black-screw/?utm_source=file&utm_medium=PDF&utm_campaign=cart&utm_term=RMP2312+ROADSTER+REAR+VIEW+MIRROR+BLACK+SCREW
https://mgbhive.co.uk/product/rmp2312-black-screw/?utm_source=file&utm_medium=PDF&utm_campaign=cart&utm_term=RMP2312+ROADSTER+REAR+VIEW+MIRROR+BLACK+SCREW
https://mgbhive.co.uk/product/rfn210-blanking-plug-grommet-5-8/?utm_source=file&utm_medium=PDF&utm_campaign=cart&utm_term=RFN210+BLANKING+PLUG+GROMMET+5%2F8
https://mgbhive.co.uk/product/rfn210-blanking-plug-grommet-5-8/?utm_source=file&utm_medium=PDF&utm_campaign=cart&utm_term=RFN210+BLANKING+PLUG+GROMMET+5%2F8
https://mgbhive.co.uk/product/se910201-screw-3-16-unf-x-5-8/?utm_source=file&utm_medium=PDF&utm_campaign=cart&utm_term=SE910201+SCREW+3%2F16+UNF+X+5%2F8%22
https://mgbhive.co.uk/product/se910201-screw-3-16-unf-x-5-8/?utm_source=file&utm_medium=PDF&utm_campaign=cart&utm_term=SE910201+SCREW+3%2F16+UNF+X+5%2F8%22
https://mgbhive.co.uk/product/se604051-mgb-heater-box-to-bulkhead-screw/?utm_source=file&utm_medium=PDF&utm_campaign=cart&utm_term=SE604051+MGB+HEATER+BOX+TO+BULKHEAD+SCREW
https://mgbhive.co.uk/product/se604051-mgb-heater-box-to-bulkhead-screw/?utm_source=file&utm_medium=PDF&utm_campaign=cart&utm_term=SE604051+MGB+HEATER+BOX+TO+BULKHEAD+SCREW
https://mgbhive.co.uk/product/sh505061-mgb-gearbox-mount-screw/?utm_source=file&utm_medium=PDF&utm_campaign=cart&utm_term=SH505061+MGB+GEARBOX+MOUNT+SCREW
https://mgbhive.co.uk/product/sh505061-mgb-gearbox-mount-screw/?utm_source=file&utm_medium=PDF&utm_campaign=cart&utm_term=SH505061+MGB+GEARBOX+MOUNT+SCREW


Page: 3

Page: 3

1 X AJM102Z MIDGET 948
/ 1098 HEAD GASKET SET

Read More
Price: £10.96 inc VAT

1 X SE604061 SCREW PAN
HEAD 1/4 UNF X 3/4"

Read More
Price: £0.35 inc VAT

https://mgbhive.co.uk/product/ajm102z-midget-948-1098-head-gasket-set/?utm_source=file&utm_medium=PDF&utm_campaign=cart&utm_term=AJM102Z+MIDGET+948+%2F+1098+HEAD+GASKET+SET
https://mgbhive.co.uk/product/ajm102z-midget-948-1098-head-gasket-set/?utm_source=file&utm_medium=PDF&utm_campaign=cart&utm_term=AJM102Z+MIDGET+948+%2F+1098+HEAD+GASKET+SET
https://mgbhive.co.uk/product/se604061-screw-pan-head-1-4-unf-x-3-4/?utm_source=file&utm_medium=PDF&utm_campaign=cart&utm_term=SE604061+SCREW+PAN+HEAD+1%2F4+UNF++X+3%2F4%22
https://mgbhive.co.uk/product/se604061-screw-pan-head-1-4-unf-x-3-4/?utm_source=file&utm_medium=PDF&utm_campaign=cart&utm_term=SE604061+SCREW+PAN+HEAD+1%2F4+UNF++X+3%2F4%22


Page: 4

Page: 4

INDEX

1
1 x AJM102Z MIDGET 948 / 1098 HEAD GASKET SET  3
1 x RFN210 BLANKING PLUG GROMMET 5/8  2
1 x RFR103 CABLE GROMMET  2
1 x RMP2312 ROADSTER REAR VIEW MIRROR BLACK SCREW  2
1 x SE604051 MGB HEATER BOX TO BULKHEAD SCREW  2
1 x SE604061 SCREW PAN HEAD 1/4 UNF X 3/4"  3
1 x SE910201 SCREW 3/16 UNF X 5/8"  2
1 x SF604041 COUNTER SUNK SCREW 1/4 X 1/2" UNF  2
1 x SF604061 SCREW COUNTER SUNK 1/4 UNF X 3/4"  2
1 x SH505061 MGB GEARBOX MOUNT SCREW  2


